
 

ATOM 80 

User manual 
release V2/2022 

valid for MY19-MY20-MY22 versions 



 

Atom 80 - User manual - V2 2 



  

  

  

 

 

  

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 



 l Introduction 

Congratulations and thanks for choosing a Vittorazi Motors engine. 

The User Manual is part of the engine and must be preserved and attached to the engine if the 
engine is transferred to a new user. The purpose of this manual is to provide all the necessary 
information to the user in order to enable a proper use of the engine, carried out autonomously 
and in total security. The User Manual includes: technical descriptions of the operating modes, 
scheduled maintenance table and reference values; suggestions and safety measures to which 
the user is subjected are also included. 

All the components of Vittorazi Motors are checked and tested in a process of industrial quality 
control before the assembling. Then by sampling the complete motors are checked to assure the 
functionality of all the parts through a complete test of twenty minutes on the bench. Note that 
the reliability, performance and durability of the engine also depend on proper use of the engine 
during time. Vittorazi Motors is always improving its engines and reserves the right to change in 
any moment and without notice, drawings, specifications, components and details of the models 
in production without any obligation towards the user. 

In case you need further explanations, you can contact the authorized dealer of your country. 
Please include in the request, the six-digit serial number that identifies the motor (read 3.7 
"Engine serial number") and a photo of the item in question. 

Also take into account the availability of Illustrated Parts Catalogue (IPC), manual updates, service 
bulletins, FAQs, other documents in our official website. The video tutorials are available on the 
Vittorazi Motors official VouTube channel. Below the links. 

Find the nearest dealer 

www.vittorazi.com/en/dealers/ 

IPC, manuals, bulletins, newsletter, warranties, FAQ 

https://www.vittorazi.com/en/services/ 

Vittorazi Official VouTube channel: video and free tutorials available 

https://www.youtube.com/user /VITTO RAZI MOTORS 

Atom 80 - User manual - V2 4 

http://www.vittorazi.com/en/dealers/
https://www.vittorazi.com/en/services/
https://www.youtube.com/user/VITTORAZIMOTORS


 

Reading tips: 

Attention, danger, risk 
Any situation or condition which may result in a serious danger 

Recommendation, warning, important advice • 

Atom 80 - User manual - V2 5 



 

• 

• 

• 

• 

• 

• 

• 

• 

• 

 



• 

• 

• 

  



 

• 

• 

 



 

3.2 Technical data 

Atom 80 
Cycle 2 strokes 

Stroke 44mms 

Displacement 78,2 cc 

Bore 047,6mms 

Power 76 HP at 9.500 RPM 

Cylinder 
Single cylinder in aluminum; electroplated with hard coating Nikasil® 

technology 

Piston Casting piston, diamond profile, 7 ring chromed 

Airbox silencer 

Air intake 
Diaphragm carburettor (WG8 integrate choke system [MV79]; WB 
series [since MV20]) 

Reed valve intake 

Cooling system Forced air ventilation system with fan and conveyer 

Starter Manual 

Transmission 
Oil lubricated helicoidal gearings 

Adjustable centrifugal clutch 

Reduction 7/3,8 

Ignition Single Spark 

Spark plug NGK BR9ES 

Max. EGT 
(Exhaust Gas EGT 650 °c (measured at 75 ems from the piston) 

Temperature) 

Max. CHT 
CHT 780 °c (type K thermocouple, see installation manual for further 

(Cylinder Head 
Temperature) 

information) 

Maximum RPM 9.600-9.800 RPM 

Engine idle 7.800-2.000 RPM 

Static thrust 
55 kgs prop. 730 ems at 9.650 RPM (2 blades Vittorazi Approved Prop) 

52 kgs prop. 725 ems at 9.600 RPM (2 blades Vittorazi Approved Prop) 

Tuned exhaust system, chromed manifold 

Exhaust pipe Double joint system 
Silencer pipe integrated with "Db-killer" chamber 

Propeller 
Clockwise 

rotation 

Fuel 
Unleaded gasoline with 2,0 % synthetic oil (Motul770) 
Unleaded gasoline with 7,5 % synthetic oil (Motul800) 

Fuel 2,7 litres/hour, at 30 kgs of static thrust, prop. 730 ems at 7.600 RPM 

consumption (2 blades Vittorazi Approved Prop) 

Weight 70,4 kgs 

Atom 80 - User manual - V2 9 



 

0
5

10
15
20
25
30
35
40
45
50
55
60

6 6,5 7 7,5 8 8,5 9 9,5 10

[RPMx1000]

Thrust [kg] @ 13,1 °C, 98 % RH, 1015 mbar, 
130 cms propeller, 2 blades

60
70
80
90

100
110
120
130
140
150
160
170
180

6 6,5 7 7,5 8 8,5 9 9,5 10

[RPMx1000]

CHT [°C] 

0,0
0,5
1,0
1,5
2,0
2,5
3,0
3,5
4,0
4,5
5,0
5,5
6,0

6 6,5 7 7,5 8 8,5 9 9,5 10

[RPMx1000]

Fuel Consumption [lt/h] 

400
420
440
460
480
500
520
540
560
580
600
620
640

6 6,5 7 7,5 8 8,5 9 9,5 10

[RPMx1000]

EGT [°C]



 

 

4 How to use it? 

4.1 Propeller assembling 

Considering the rear view, the propeller rotation is clockwise. As first operation, couple the two 
blades in the bayonet recess as shown, then add the screws and the flange. Lastly, place the 
bottom of the propeller on the reduction hub and tighten the screws progressively until they 
reach the stop. 

0 
The spacer between the hub and the propeller is not authorised for this engine model. 

Atom 80 - User manual - V2 77 



• 

• 

 



• 

• 

• 

• 

• 

• 

• 

• 

 



• 

• 

• 

• 

• 

 



• 

• 

 



 

Wrong oil-fuel mixture, non-compliant oils, wrong fuel or dirty fuel, other reasons already 

mentioned above, lead to voiding of the product warranty (see also the warranty 
paragraphs). 

Atom 80 - User manual - V2 76 



 

4.3 Start and stop 

To test your aircraft on the ground, you have to be very careful. Carry out a checklist before 
starting the engine (chapter 5). Brake the aircraft in such a way that the thrust created by 

the rotation of the propeller does not cause any harm to you or other people near you. Shout 
CLEAR PROP! You can now start the engine. Be ready to turn off the engine at any time for 

safety reasons. 

0 
Filling the fuel line. Before starting the engine, the fuel line must be filled. To do this, activate 
two elements simultaneously: the fuel line valve on the carburettor and pressurise the fuel 

tank to make sure fuel reaches the carburettor. Keeping the fuel line valve open for longer 
than l second while the line is pressurised, would bring too much fuel to the engine, thus 

flooding it. 

Atom 80 - User manual - V2 77 



 

0 
Cold engine starting. Throttle position at idle or less than 20 % open. 

Warm engine starting. Throttle position at idle. It is not necessary to refill the fuel line. A 
simple touch of the fuel line valve (without pressurising) is sufficient to eliminate any bubbles 
created during the stopping period. 

Starting the engine when it is flooded. Full throttle opening. Extremely dangerous 
condition when performing this operation. Thrust may be violent and instantaneous in the 
event a sudden start. 

0 
Only for MY19: if the engine has difficulty starting (i.e., low temperature) rotate the choke 
lever, once it has started return it to the starting position (fully opened). 

Atom 80 - User manual - V2 78 



 



 

• 

• 



 

4.5 Break-in procedure 

A carefully executed break-in phase, following the next instructions, improves the life of the 
engine and its performance. The presence of experienced personnel during the running-in phase 
is recommended, also to carry out the necessary checks at the end of the period. 

The engine must be used carefully in the first hours of break-in (75 litres) and fuel mixture must 
be prepared as indicated in the table. The first time the engine is started, it must be warmed up 
on the ground for a few minutes, paying utmost attention to noises or abnormal behaviour. We 
recommend to complete the break-in on the same day. 

Break-in Atom 80 

From pt to 7sth litre of fuel 
Oil 2,5 % or 40:7 Motul770 
Oil 2,0 % or 50:7 Motul800 

After the 7gh litre of fuel 
Oil 2,0 % or 50:7 Motul770 
Oil 7,5 % or 66:7 Motul800 

Atom 80 - User manual - V2 27 



 

Ground Break-in 

Flight Break-in 

Regular use 

Tools: chronometer and RPM counter; 

Test location: on the ground; 
Duration: about 2 hours in total; 

Test cycle: operating cycle of 73 working minutes followed by 75 
minutes of cooling, to be repeated 4 times. 

RPM Time 

6.000 4min 

Idle (7.800-2.000) 7 min 

7.000 3 min 

Idle (7.800-2.000) 7 min 

8.000 2 min 

Idle (7.800-2.000) 7 min 

9.000 7 min 

Off 75 min cooling 

Final checks: carry out the checklist shown in the next chart before 
proceeding to the flight phase. 

Test location: on flight; 

Duration: up to 75 litres (also include the fuel previously consumed 
on the ground break-in); 

Test cycle: each flight duration is up to 30 minutes. 

Do not keep the engine at max RPM for more than 30 seconds or 
do not keep constant RPM for a long time. Gradual accelerations 

and releases are recommended. 

Use engine with mixture of oil 2,0 % Motul770 or 7,5 % Motul800. 

Atom 80 - User manual - V2 22 



 

At the end of the ground break-in, perform the following checks: 

Engine screws and nuts tightening; 

Propeller screws tightening; 

Engine idle; 

Carburation from spark plug colour; 

Rubber mountings; 

Airbox fixing; 

Pull starter system; 

Gearbox oil level; transmission oil replacement, suggested; 

All installed components (engine fixing, electrical system, fuel line system, instrumentation, 

other parts). 

0 
Carry out the above operations in accordance with the installation, use and maintenance 

manual and under the supervision of authorized personnel. 

Atom 80 - User manual - V2 23 



 

 

5 Safety first, check it 

5.1 Maintenance schedule 

Refer to the following maintenance indicated time schedule to fly in total safety. Work on the 
engine is only allowed to be carried out by experienced mechanic and authorized dealers. These 
are prescribed checks at certain interval times to avoid engine problems through preventative 
ma i ntena nee. 

Caption: 

~ Cleaning 

,o Check 

"' Measuring 

Replacement 

Note: 

7) or after a year 

2) rope, spring, hooks or a new pull starter system 

3) add new silicone 

4) oil leaks 

5) replace rivets, add new silicone or a new silencer 

6) each time the component is disassembled 

7) head, exhaust port, decompressor hole 

Atom 80 - User manual - V2 24 



Vl ... ..c ..c ..c 
::J 

...., 
..c 

0 ..c ..c ..c 0 0 0 
.c Ol 0 I.[) 0 0 I.[) 0 

Q.) c;::: r- N I.[) r- r- N .... 
.c 

,._ c >, c c c c 0 ..c ,._ 
-~ 4- u Q.) Q.) Q.) Q.) Q.) Q.) 

Q.) (I) > > > > > > u:: (I] Q.) w w w w w w 

Pre-flight checklist ,o 
Screws and nuts ,o (tightening) 

Carburation from ,o 
spark plug colour 

Spark plug 

,o , 
Spark plug connector 

Carburettor ,o ~ 
/ 

Carburettor 

membranes 
7) 

Airbox Snaplock ,o 
,o 

Airbox 

~ 
,o , 

Airbox sponge and 
sleeve 

" 7) 

,o ~ 

Reed va Ive peta Is 

Pull starter system 

2) 

The table follows in the next page 

Atom 80 - User manual - V2 25 



U) ... ..c ..c ..c 
::J +-' ..c 
0 ..c ..c ..c 0 0 0 
.c Ol 0 Li) 0 0 Li) 0 

(I) .:;::: r- N Li) r- r- N 
+-' .c 

.._ >. >. >. >. >. >. 
E ..c .._ .._ .._ .._ .._ .._ 

-~ u (I) (I) (I) (I) (I) (I) 
(I) m > > > > > > u:: (l) (I) w w w w w w 

Aluminium exhaust 
bushing with 0-ring 

Exhaust manifold with ,o springs 

Spherical joint ~ 
3) 

,o / 

Silencer 
4) 5) 

Soundproofing 

material silencer 

Gaskets (cylinder, ' 
carburettor, reed 
valve, transmission) 6) 

~ 
Piston 

"' / 

Piston roller bearing 

~ 
Head and cylinder 7) 

"' ' 0-ring head 

6) 

Rubber mountings 
(engine, exhaust) 

7) 

Oil seal carter case 

The table follows in the next page 

Atom 80 - User manual - V2 26 



 

U) ... ..c ..c ..c 
::J 

...., 
..c 

0 ..c ..c ..c 0 0 0 
.c Ol 0 Li) 0 0 Li) 0 

(l) .:;::: r- N Li) r- r- N 
+-' .c 

,.__ >. >. >. >. >. >. 
J2 ..c ,.__ ,.__ ,.__ ,.__ ,.__ ,.__ 

-~ u (l) (l) (l) (l) (l) (l) 
(l) m > > > > > > u:: (l) (l) w w w w w w 

Crankshaft bearings 

Crankshaft ~ 
Gearbox oil 

Transmission bearings 

Transmission oil seal 
and O-ring 

Centrifugal clutch ,o 

Clutch bell 

Atom 80 - User manual - V2 27 



5.2 Tightening values 

Component Torque value Thread size 
Lubricant/ 

sealant 

Engine carter 
6,5Nm M5x40 

screws 

Cylinder studs 8Nm M6 

Cylinder head 
70 Nm M6x7,0 Copper paste 

nuts 

Spark plug 25 Nm M74x7,25 

Exhaust studs 70 Nm M6 

Exhaust nuts hand tightening M6x7,0 

Rubber 
78 Nm MB 

mounting nuts 

Silencer nuts 
hand tightening M6-M6x76 

and bolts 

Carburettor 
8Nm M5x20 

flange screws 

Carburettor 
hand tightening 

Lox ea I 55-03/ 
M6x60 

screws Loctite 243 

Snaplock airbox Lox ea I 55-03/ 
70 Nm M6 

pivots Loctite 243 

Airbox fixing 50-70 mm 

clamp 
2,5 Nm 

(clamp size) 

Flywheel nut 52 Nm M70x7,25 

Electronic 

ignition coil hand tightening M5x20 
bolts 

Clutch nut 52Nm M70x7,25 

Starter central Loxea I 83-55/ 

pin screw 
72 Nm M6x25 

Loctite 270 

Reduction drive 
6,5Nm M5x20 

case screws 

Reduction drive 
70 Nm M6x25 

case screws 

Hubber center 
79 Nm M8x20 

screw 

The table follows in the next page 

Atom 80 - User manual - V2 28 



 

Plastic air-
hand tightening M4xl2 

conveyor screw 

Plastic air-
hand tightening 

Lox ea I 83-55/ 

conveyor stud 
M4 

Loctite 270 

Wooden 
propeller 6-7 Nm M6 
screws 

Carbon 
propeller 70-72 Nm M6 

screws 

Atom 80 - User manual - V2 29 



• 

• 

• 

• 

• 

• 

 



 

MY19: Walbro WG 

3 5 Throttle lever 

2 Gasoline inlet 

3 Fuel line valve 
4 

4 Throttle adjustment 

5 Low speed screw 

6 Choke lever 

MY20: Walbro WB 

3 Throttle lever 

2 Gasoline inlet 

3 Fuel line valve 

4 High speed screw 

5 Low speed screw 

6 Throttle adjustment 

6 

Screw H of the carburettor Wal bro WB is sealed by Vittorazi Motors to ensure the safety of 
operation. Incorrect setting of screw H can result in serious damage. If the opening of the 

settings is lower than the table specifications, the mixture will be poor and there is the 
possibility of breaks, such as seizure, overheating, piston melting, early wear of the 

components. Wrong carburettor settings, or breakage of the H seal, lead to voiding of the 
product warranty (see also the warranty paragraphs). 

Atom 80 - User manual - V2 37 



 

A second check of the carburetion can be made verifying the colour of the spark plug electrode. 
A first control can be done, at the end of the of break-in period, in the following way: 

Electrod colour 

Light grey/ Grey 

Brown/ Cappuccino 

Black/ Dark/Wet 

Light Grey/ 
Grey 

Atom 80 - User manual - V2 

Brown/ 
Cappuccino 

Black/ Dark/ 
Wet 

Carburetion quality 

The carburetion is poor, lean. It is important 
to find the cause immediately, with the 
help of an authorized dealer/ instructor. 

Normal, Optimal, Correct. 

The carburetion is rich. Gently screw-in the 
L to the end of its rotation and re-open 

according to the prescribed values. Contact 
an authorized dealer if the problem persists 
after the change applied. 

32 



 

5.4 Pre-flight checklist 

Check propeller screws tightening. 

Visually check the engine integrity and oil leaks: rubber mountings, muffler, airbox fixing, 
transmission and all the other components. 

Visually check the fuel line, electric cables and components. 

Verify that throttle joystick sliding is correct, in its upper and lower limits. 

Fill the fuel line following the procedure. 

ENGINE IS NOW READY TO START. 

Place your aircraft in a safe position to start the engine. 

Shout CLEAR PROP! Start the engine. 

Complete the engine WARM UP procedure. 

Check for abnormal vibrations or noise. 

Check that Max RPM is between 9.600 and 9.800. 

Check that engine keeps the Max revs for at least 5 seconds. 

Check the engine idle, so the RPMs are stable between 1.800 and 2.000 RPM. 

Turn off the engine to check the correct operation of the killing switch button. 

ENGINE IS NOW READY TO TAKE OFF. 

Atom 80 - User manual - V2 33 



 

5.5 Spa re parts 

Ask to a Vittorazi dealer for the spare-parts. If a dealer is not available in your area or country, you 

can contact the nearest Vittorazi dealer (or directly the factory). 

The use of not original parts and parts not recognized byVittorazi, can make the motor dangerous 
and this immediately voids the warranty. Vittorazi doesn't accept any warranty for those motor 
used with not original parts, parts not recognized, modified motors or those who have been used 
improperly. 

You can download the Vittorazi Motors Illustrated Parts Catalogue (IPC) directly from the website. 
The manufacturer will ensure immediate availability of spare parts. 

IPC, manuals, bulletins, newsletter, warranties, FAQ 

https://www.vittorazi.com/en/services/ 

Find the nearest dealer 

www.vittorazi.com/en/dea lers/ 

Vittorazi Official VouTube channel: video and free tutorials available 

https://www.youtube.com/user NITTO RAZI MOTORS 

Atom 80 - User manual - V2 34 

https://www.vittorazi.com/en/services/
http://www.vittorazi.com/en/dealers/
https://www.youtube.com/user/VITTORAZIMOTORS


 

 



• 

o 

o 

o 

o 

o 

o 

o 

o 

o 

o 

o 

o 

• 

• 

• 

• 

• 

• 

• 

• 



• 

• 

• 

• 

• 

• 

• 

• 

• 

 



 

6.4 Contacts 

For any questions, claims, doubts or problems with the operation of the engine, do not hesitate 
to contact us. We will always be ready to help you. 

Check out our list of information channels and follow us constantly to stay updated. 

Find the nearest dealer 

www.vittorazi.com/en/dea lers/ 

Vittorazi Newsletter: to receive exclusive information and obtain technical safety updates 

II https://www.vittorazi.com/en/newsletter/ 
l!l .• 

Facebook official page: follow us and catch commercial promotions 

https://www.facebook.com/vittorazimotors/ 

Facebook official group: support our initiatives and share your experiences with us 

https://www.facebook.com/g rou ps/vittorazi M otorsSu pportO n Ii ne/ 

Atom 80 - User manual - V2 38 

http://www.vittorazi.com/en/dealers/
https://www.vittorazi.com/en/newsletter/
https://www.facebook.com/vittorazimotors/
https://www.facebook.com/groups/VittoraziMotorsSupportOnline/


Service booklet 

Owner's data 

Name and last name 

Address 
(Street, City & Country) 

E-mail address 

Telephone number 

Engine's data 

Engine model 

Engine serial number CRC 

Date of purchase 

Dealer/ Distributor/ Seller 

Flight 
Dealer 

Hours Operations Date Signature 
hours 

& Stamp 

25 
Suggested 

maintenance 

so Mandatory 
maintenance 

75 
Suggested 

maintenance 

100 
Mandatory 

maintenance 

125 
Suggested 

maintenance 

150 
Warranty 

expiry 

Atom 80 - User manual - V2 39 



 

Atom 80 - User manual - V2 40 



 

Atom 80 - User manual - V2 41 



Atom 80 - User manual - V2 42 


